@ x+ () =-2
@ a+(a+b)

—~~

® (x-y+5=1



|

\

|

l

It
i
r
oz
N
fol
i
)
i)

sfof Lk
®% ®% ®@ @ 3abc @i

3c c abc



st stk

2 EdfoF 5t F

[e)

a3t



4.

5 Holl x

Fatelet.

=
=¥

She A 3 AT 1 hao] y 9 She 948 5 4R

=

s

ftlo



[a]

H7]

@ 4(1-x)-4x=0 © 2x+7=T7+2x
® l4x-x*=1-x2 @ 2=2x+3x2

@ 3x+8=2x+1

5 J=x
=¥
s

=¥



T A 2x+ b = 5 —ax 7t AFA A 0] H7] A% a 9

o
-

BN
o

)
A

@D a=2b=5 @ a=-2,b=5 B a=-2

@ g+ -1 B a+ -2



o

of A% ¢ ol

Ct-

II

A 2x3 — x + 5y — 6 oA &2 N

ol,a+b-cO G F

Eafo

-5t

g



8.  TFA axd 4 2x% - 3x+ x3 - bx + 7 2 45| 5%

A, A5 B2t W, A+B=9°]7] Ygta

D -2 @ -1 ® 0 @ 1

Lo



9.

©, ©, © o QA x 9 A% &S Fofoler,

Q@ (9x+2)+2
© (—2x+3)+(

1

2

)

1
@ 1(6x+8)

Be
”




10. ©e A2 AN

O -4(7x-9)

DO

® Z(-a-12)

w

5

of, 17}



